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Final Examination

Answer five of the following questions.  Each question is worth a maximum of 32 points; thus, one can earn up to 160 points on this exam. Each answer should be typed, double-spaced with 12 point font and not exceed two pages except for graphs, tables, or mathematical arguments.  You may clearly hand write (in pen) any mathematical or graphical expressions you include in your answers.  Be sure to sign the Lawrence Honor Code.

“My idea is to go just outside centers of population, pick up cheap land, build a whole community, and entice people into it.  Then go back into the cities and tear down whole slums and make parks of them.” – Rexford Tugwell, creator of the New Deal’s Greenbelt demonstration suburbs.

1. This question relates to urban sprawl.
a. Carefully define urban sprawl.

b. Explain three economic forces that give rise to urban sprawl.

c. Why do US urban areas have much lower population densities than exist in Europe or Asia?

d. Explain three consequences of sprawl that concern policy makers.

e. Although many policy analysts oppose sprawl, not all do.  Briefly discuss two aspects of sprawl on which these analysts differ.

2. The Environmental Kuznets Curve (EKC)

a. Carefully define the EKC.
b. Indicate how the EKC helps to frame the policy debate about economic development.  In particular, explain why EKC advocates believe that induced innovation precludes the need for governmental regulation of markets, while EKC opponents argue that significant governmental intervention is required.

c. Does Matthew Kahn argue that income growth is good or bad for environmental quality?  Explain why you agree or disagree.

3. Megacities

a. What are megacities?

b. Explain three ways in which megacities improve economic welfare.

c. Explain three ways in which megacities detract from economic welfare.

d. Should population of a city beyond a certain level be limited? Explain.

4. Location Theory

a. How does location theory explain the distribution of land rents within a given urban area. Comment on how “Prices Adjust to Achieve Locational Equilibrium” and the roles of substitution in production and consumption.

b. Is the large traditional, monocentric city a “fluke,” and urban location theory uninformative or can location theory be adapted to explain contemporary U.S. urban areas?  Explain your answer.

5. General Equilibrium Models of Urban Areas

a. Explain how land markets and labor markets interact to generate explanations of the differences in wages and land rents across urban areas.

b. Assume that a large flood puts a section of the central business district of a major city (such as Shanghai, China or San Francisco, California) under water.  What would be the impact on the city’s wage, the land rent in the CBD, the land rent in the residential area, and the size of both the CBD and the residential area?  Use graphical analysis to support your claims.  

6. City Size

a. Define localization economies.

b. Define urbanization economies

c. How do localization economies, urbanization economies, diseconomies of scale, household utility maximization, and market prices yield sustainable cities of a variety of sizes in a given country?  Use appropriate graphics to support your analysis.

7. Transportation technology

a. Explain both generally and with specific examples how changes in transportation technology have affected the development of urban areas.

b. Indicate two ways in which governmental policy has influenced the shape of urbanization in the U.S.

c. Do you believe that new telecommunication and other forms of technology will make distance an unimportant factor in economic development and, thus, make cities unimportant economic factors?  Support your answer.

8. Intra-urban land use

a. Define a bid-rent function.

b. Explain how bid-rent functions might differ across various socio-economic groups (e.g., income level, age, family size, and ethic group).

c. Assume two mono-centric cities.  One has a distribution of income amongst its households that ranges from half the median income to twice the median income; the other’s distribution ranges from one fifth the median income to five times the median income.  Compare and contrast the residential, locational equilibrium within each urban area for these two cities under the assumption that land goes to the highest bidder. State any key assumptions and illustrate graphically.

9. Green Cities

a. Briefly explain three approaches to measuring city “greenness” levels.

b. Why do analysts have difficulty determining an unique green city index?

c. According to Kahn, what land use characteristics would most likely yield the highest measures of greenness?

d. Why would it be difficult to find an optimal population density level for cities?  What values and desired characteristics must be weighed against one another and tradeoffs amongst them be made?

